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General Instructions
() This question paper contairthree parts A, B and C.

(i) Part A iscompulsoryfor all candidates.
(i) Candidates can attempt onbne part of the remaining parts B and C.

(iv) All parts of the questions should be attempted at one place.
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PART-A
ACCOUNTANCY

HUE-F
AT

Define partnership. 2
QrElaRT &l IRETT ST |

P Ltd. purchased assets worth Rs. 1,80,000 from S Ltd. The payment was made by
issuing equity shares of the face value of Rs. 100 each at a premium of Rs. 20 per
Share.

Pass necessary journal entries. 2

1. for. 5 TE. 0. & 1,80,000 &. T qRqiral @, e 9Iam 100 . ATl F9ar S B 20
5. yid 31 iferged W i e o

RERILCICICERC R EIER e B

JCM Ltd. invited applications for issuing 20,000 equity shares of Rs. 20 each at a
discount of 10%. The whole amount was payable on application. The issue was fully
subscribed.

Pass necessary journal entries. 2

ST, fT. T 20 %. AT 20,000 FHAT S ® 10% T TR AT e g e s 6 |
ROl EXITAT T A ST & QAT AT o7 | F9T Sferl & forg sfees g gv |

S | SATa9ash it i |

On 31.1.2005 Janta Ltd. converted its Rs. 88,00,000, 6% debentures into equity shares
of Rs. 20 each at a premium of Rs. 2 per share.

Pass necessary journal entries in the books of the company for redemption of
debentures. 2

31.1.2005 T F=aT T, < 88,00,000 &. & 6% FOTIAT T M, 20 &. ATl THAT AN Hl 2 5.
gfer afer srferemy W frifag #ves aRafda e

FHIAT T TEIhI § FOUH & QA g Ao H Aagae gfafeedr i |

Pappu and Munna are partners in a firm sharing profits in the ratio of 3 : 2. The
partnership deed provided that Pappu was to be paid salary of Rs. 2,500 per month
and Munna was to get a commission of Rs. 10,000 per year. Interest on capital was
to be allowed @5% per annum and interest on drawings was to be changed @ 6% per
annum. Interest on Pappu's drawings was Rs. 1,250 and on Munna's drawings
Rs. 425. Capital of the partners were Rs. 2,00,000 and Rs. 1,50,000 respectively, and
were fixed. The firm earned a profit of Rs. 90,575 for the year ended 31.3.2004.

Prepare Profit and Loss Appropriation Account of the firm. 3



qUF T AT U FF H TSGR & Sl AT T FIaRoT SHST: 3 1 2 % ST H & & | ATSIeRT SHeid
& AR 99 2,500 F. TR I & q&T = 10,000 F. GFias HHISH U B & SRR
& | YSTl WX 5% dTiieh el & § S &F &7 q&T 30T X AT 6% AT i & T &7 | 9og
AT qT & ST T AT AT 1,250 6. TG 425 . o7 | 3! LT ISH 67T 2,00,000 &.
AT 1,50,000 &. &¥ | 31.3.2004 I FAG 8T ¥ H ®H 7 90,575 &. I AT HAAT |

& T ATY-BT (ST @1t a9rEd |

What is meant by issue of debentures as 'Collateral Security' ? 3

a7 gfyfr & &9 H FOO & R @ o ol § 7

What is meant by reconstitution of a partnership firm ? Explain briefly any two
occasions on which a partnership firm can be reconstituted. 4

QISIET B o e T T 37 & 7 U foheel af STl &1 6aT § THESd 51T ATeia &F &
Qfed fohaT ST &eha 2 |

State the purposes for which securities premium amount can be used by a company

I e qared e oo e afoyfa Siferary 1 SunT Y |eRdl & |

A, B and C were the partners in a firm, sharing profits in the ratio of 4:3:3. The
firm was dissolved on 28.2.2005. After transfer of assets and external liabilities to
Realisation Account the following transactions took place :

() K, a creditor, to whom Rs. 6,000 were due to be paid, accepted office equipment
at Rs. 4,000 and the balance was paid to him in cash.

() L, acreditor, to whom Rs. 16,000 were due to be paid, took over machinery at
Rs. 20,000. Balance was paid by him in cash.

(i) An unrecorded liability of the firm Rs. 7,800 was paid by A.
(v) The loss on dissolution was Rs. 10,000.

Pass necessary journal entries for the above transactions in the book of the firm. 4



10.

11.

H, T qAT T U FH H ATHER I, S ATHI Bl SHAT: 4:3:3 % ST § died o | BH FT 28.2.2005

2! e 21 74T | Feacl qe arer SIdreil bl Il @id H REIRd S & SUUw Hfarad

KEECE I

() =, T AR BT ®H ZRT 6,000 B. T A HAT &1, 7 HEAAT GG 4,000 5. F DHR
e om T8 QO RIS T YA Fehe fohar T |

(i) , TP AR T B ERT 16,000 B. T A BT &1, 5 20,000 &. H AT o o qern
T QT LT BT A Aehe {haT |

(i) wH F 7,800 %. HN TH A <Far & SR G o1 7 foma |
(v) faees T 10,000 &. FF &1 T2
®F T TEIRI H IURIH -1 Bl AT | ATagdeh gfafeedr i |

On 1.1.2000, X Ltd. issued 5,00,000 8% debentures of Rs. 100 each, redeemable after
10 years. Debenture-holders were given the option to get their debentures redeemed
at any time after 3 years at Rs. 105 per debenture. At the end of four years, debenture-
holders holding 40,000 debentures exercised their option and got their debentures
redeemed.

Record necessary journal entries for issue and redemption of debentures in the books
of the company. 4

1.1.2000 T TR feT. T 100 &. AT 5,00,000, 8% FOT, {1 QUM 10 I AT BT &T, T
e foram | FoTaer et @1 g (faeed) ot 76 9 3 ad & uganq Tt off 99 oTa FoTa=t a6
SIE 105 &. T FOTTA & X § 4 Tl & | IR a6t & Igarq F0T9T greh o g2 (faeea) &1
SYFRT I BT STIT 40,000 FOTIST T Qe T foram |

FRHT ! &Rl § FOTIH & SR JT e 8 Ao | 3Tasds gtaftedt Hifn |

On 1.1.2005, Fast Computers Ltd. issued 20,00,000, 6% debentures of Rs. 100 each
at a discount of 4%, redeemable at a premium of 5% after three years. The amount
was payable as follows :

On application Rs. 50 per debenture.

Balance on allotment.
Record the necessary journal entries for issue of debentures. 4



12.

13.

1.1.2005 &1 HRE HFEH . T 100 . T 20,00,000, 6% Fo9T 4% T2 W FRiHa 6 |
FOTYAT T Qe T a9 G991 5% SATTATH T HIAT T | GRRIT 17 JehR < o

JMIeT W 50 5. Gfd 0TI,
Y AT W |
FOOET & AT o A | Sagad gafeedt ditg |
Ram and Mohan were partners in a firm sharing profits in the ratio of 4 : 1. On

01.03.2005, they admitted Sohan as a new partner for 1/3rd share in the profits of the
firm. They fixed the new profit sharing ratioas 4 : 2 : 3.

On the date of Sohan's admission, the firm had a JLP for Rs. 60,000 (surrender value
Rs. 20,000). The P&L A/c on the date of admission showed a Balance of Rs. 32,000
(DR). The firm also had a reserve of Rs. 1,00,000.

Sohan is to bring Rs. 60,000 as premium for his share of goodwill.

Showing your calculations clearly, pass necessary journal entries to record the above
transactions. 6

TH qAT e U ®F H ATEER O ST ATl B 4 0 1 % T § faRka s 91 2 1.3.2005
H IR HeT B BH H 1/3 AW & AT b (G0 GEER AT IV AT A9 RN A
4 : 2 : 3 Miyaad frar

Qe & Ja9 & & & | 60,000 TG T G St ST Aiferdr & fieerr F9T e 20,000
BYY 97| IET T A-BI @rar 82,000 HUF BT AT AT 900 TET AT | BH § FIF BT AT
1,00,000 9 & |

i U Y D @M H [T 60,000 5. NHTH & € H AR
YT U T T ATEAT B gT IUART O &1 o g Ao 7 gfaftedt Hifg |

Following is the Balance Sheet of Ramesh and Suresh as on 28.2.2005 :

Liabilities Amount | Assets Amount
Rs. Rs.

Sundry Creditors 20,000 | Land and Building 40,000
Bills Payable 40,000 | Furniture and Fittings 28,000
Capital Accounts : hck 20,000

Ramesh 30,000 Stock 10,000
Suresh 30,000 60,000| Debtors 12,000
- Cash 10,000

1,20,000 1,20,000




On the above date, Ramesh and Suresh decided to dissolve the firm. Ramesh took over
the creditors and Suresh took over the bills payables. Assets realized as follows :

Debtors Rs. 9,000; Furniture Rs. 21,000; Stock Rs. 6,000; Truck Rs. 32,000 and Land
and Buildings Rs. 60,000. Expenses of realisation paid by Ramesh were Rs. 1,200.

Prepare Realisation Account, Cash Account and Capital Accounts of the partners to
close the books of the firm. 6

OR

Pass necessary journal entries to record the following at the time of dissolution of a
partnership firm assuming that the Assets & third party liabilities have already been
transferred to Realisation A/c :

(@ An unrecorded asset of Rs. 300 was taken over by 'A’, one of the partners.
(b) Creditors were paid Rs. 14,000 in full settlement of their claims for Rs. 15,000.
(¢) Sundry assets realised Rs. 1,95,000.

(d) 'B' (another partner) was to bear the expenses on dissolution, which amounted to
Rs. 1,500/-.

(e) Value of Sundry liabilities including creditors at the time of dissolution was
Rs. 1,90,000.

(H 'A’' takes over the loan payable to 'Mrs. A’ Rs. 15,000. 6

28.2.2005 1 THIT T FI b1 Refey foreor =1 gehe & & :

gand afir | it af¥r
Q. Q.
= W er 20,000 | T q&AT 9 40,000
3T faa@ 40,000 |wHrER e fRiEE 28,000
gofl @ oh 20,000
I 30,000 = 10,000
TWT 30,000 60,000 |TTER 12,000
TS 10,000
1,20,000 1,20,000

SRR fafer T TS qEr GRST ¥ EF B FaEe e 1 Mo fodr | W 7 w9ert w foar qan
T 7 < faar 1 forar | geafEt 9 ager 9 9eR g

IR 9,000 B.; @R 21,000 %.; T 6,000 &.; TH 32,000 &. TAT 4H T A 60,000 &. | THI
BN YA fhd T agelt @ 1,200 8. 9

®H I TEIRI Rl dS I o gl @rdl, Uhs @I q91 3Er & Yol @rd a9130 |
o
6



T FISET BH & THIOA & G9T I8 HedT Hd 80 foh FHT qafadl qer arel Sarial sl agar
QI | Il § & ST [T S gl &, feiad & i og Ao | STasae giaredt
HIT :

(&) e AfRad Fei e 9o 800 UG &1, ‘37 Ueh @MEeR F o fom |

(@) 15,000 T & TASRI & A BN 14,000 TIF o7 G @eq 22 |
(|) THET gEEl § 1,95,000 $99 99 &Y |

(@ o =T 1,500 T BE ‘@ (Th T QIEER) To BT |

(@ wH % THOT & qHY qHE AElAl Werl dfed 1,90,000 FUY &l T |

(%) ‘er F “ofmal 31 & IF HOT 15,000 B9F AT 3794 SR o foram |

Z Ltd. invited applications for issuing 40,000 equity shares of Rs. 10 each at a premium
of Rs. 2 per share. The amount was payable as follows :

On Application Rs. 6 (including premium) and balance on Allotment.

Applications for 50,000 shares ware received. Pro-rata allotment was made to all
applicants. Excess money received on application was adjusted towards sums due on
allotment.

A shareholder to whom 8,000 shares were allotted failed to pay the allotment money
and therefore, his shares were forfeited. Later on the forfeited shares were re-issued for
Rs. 70,000 as fully paid up.

Pass necessary journal entries in the books of Z Ltd. 6

. fo. 9 10 5. 91T 40,000 FEAT A & T & fow smdeT o= st R sien @
2 %. gfa 3791 & erferary u¥ feifea & o, wfsr 7y & < o

JTIET TR 6 B, i iy (SATerary |ied) qor 9 fded |

50,000 ST o foTT SATIeT T B | G4T ATdEehi Rl SATUTITR STER W 3§ 6T T | Srded
W T SAfARad TIA T THRISE 3TEed 91 ¢F Wi § fohar mam |

T SATERE T 8,000 AT T AT BT T=T &1, 7 A& A BT YA Tel 6T | 36
QT T STa Y ford T | STaq fohd T el bt 70,000 &. H QOT yaw &9 H G Fife & feam
T

5. foT. &0 g&Iehi & AT | raeden gfaftedt & |



15.

M and N were partners in a firm sharing profits in the ratio of 3 : 1. Their Balance
Sheet as on 31.3.2004 was as follows :

Liabilities Amount |Assets Amount
Rs. Rs.
Creditors 28,000| Cash 50,000
Bills Payable 40,000| Debtors 60,000
Outstanding Salary 2,000| Stock 40,000
Capital Accounts : IBnt 1,00,000
M 2,00,000 Land and Hding 1,50,000
N 1,30,000 3,30,000
4,00,000 4,00,000

1
On the above date 'O' was admitted as partne4f torshare in profits on the following

terms :

() 'O’ will bring Rs. 1,50,000 as his capital and Rs. 90,000 as his share of premium
for goodwill for his share of profits.

() Plantis to be appreciated to Rs. 1,30,000 and the value of land and building is to
be appreciated by 5%.

(i) Stock is overvalued by Rs. 6,000.
(v) A provision for bad and doubtful debts is to be created at 5% on debtors.
(v) There were unrecorded creditors Rs. 4,500/-
Prepare Revaluation Account, Partners' Capital Accounts and the Balance Sheet of the

new firm.

OR

8

P, Q and R were partners in a firm sharing profits in the ratio of 2 : 3 : 5. On 31.3.2004
their Balance Sheet was as follows :

Liabilities Amount | Assets Amount
Rs. Rs.
Creditors 70,000 | Bank 45,000
Capital Accounts : Debtors 40,000
P 80,000 Less : provision
Q 70,000 for doubtful debts 5,000 35,000
R 60,000 2,10,00Q0 Stock 50,000
Building 1,40,000
Profit & Loss Alc 10,000
2,80,000 2,80,000

On the above data R retired from the firm due to his illness on the following terms:
() Building was to be depreciated by Rs. 40,000.

8



() Provision for doubtful debts was to be maintained at 20% on debtors.

(i) Salary outstanding Rs. 5,000 was to be recorded and creditors Rs. 4,000 will not
be claimed.

(v) Goodwill of the firm was valued at Rs. 72,000 and the same was to be treated
without opening goodwill account.

(v) R was to be paid Rs. 15,000 in cash, through bank and the balance was to be
transferred to his loan account.

Prepare Revaluation Account, Partners' Capital Accounts and the Balance Sheet of P
and Q after R's retirement. 8

TH T TT TH BH § AIEER I ST AT BN 3 0 1 % ST F ared & | 31.3.2004 HT AR
ferfar feraRor ey gebm e

gard afr [t af¥r

6. T.
[SREAES 28,000 | AHS 50,000
T faa 40,000 | TR 60,000
Ied dad 2,000 | €& 40,000
9o @ ga=r 1,00,000
T, 2,00,000 g qem qaq 1,50,000

4. 1,30,000 3,30,000

4,00,000 4,00,000

1
SURIS fafer &1 S=eiq S &l T § 1 3y & foro ffafaa oat @ o 99 9EkR & w9 §
ga9r fear -

() ‘3 1,50,000 F. GSiT & foIQ qom @9 § S0+ A & 1T 90,000 &. @A & ford diferaw
TTA |

(i) F= BT 1,30,000 &. T TOMT & TAT IH TG WaT &% T B 5% T & |
(i) TETH BT T 6,000 T. D 2|

(v) TR W e Fon & U 5% HT e S 2

(V) 4,500 &. & TEERI &l Gl § el ST 4T |

QTHeich @I, ATEERi & Goil @I 72T 75 % 1 Rafd faerer amed |

AT

9



1., . q&AT AR TF BH § QISR & S A4 Hl 2 0 3 1 5 % AT | died o | 31.3.2004 &
ST Rt faeer 71 9 o

Jqand it | el af
s. ®.

TTER 70,000 | §& 45,000

i & TR 40,000

dr. 80,000 TeT : | FOT YEEE 5,000 | 35,000

F. 70,000 =ik 50,000

W, 60,000 2,10,000 | T 1,40,000

- 9= @rar 10,000

2,80,000 2,80,000

Wi fofer &t FT & PReT R 7 frefaiad Srat o wH & STaeeT T80T foha ¢
() waT T B 40,000 . fRAT A |

(i) @feTe =M & o0 S9eRi & 20% & IR WFE fhar SR |

(i) 3t AT 5,000 B. FT A@T fRIT AR T&AT 4,000 F. & WHER < TEl B |

(V) T T EATT BT TR 72,000 T. THAT TAT T IHRT THEIS @A @TaT @i (=T bt
STRTT |

(V) STR. %I 15,000 &. T e YA S & SR {ohdT ST T I Ik FOT @Il § SR
fopa ST |

Q1R @I, |IeERi & Y01l @I J9T AR & TFhIST TeoT e & 99ard Ul. qer . 1 Rt
foraRoT R it |

PART-B
ANALYSIS OF FINANCIAL STATEMENTS

-
g et =1 Rsdeor

What is meant by a 'Cash Flow Statement' ?
Aehg yaTe faawor 1 @ ofef & 2

State whether the following transactions will result into inflow, outflow or no flow of
funds :

() Purchased manchinery for cash Rs. 80,000.

() Paid to creditors Rs. 40,000.

(i) Converted Rs. 10,000 equity shares into 9% debentures.
(v) Issued equity shares Rs. 10,00,000 for cash.

10



18.

19.

20.

Farey fh fr=fafad a=-31 &1 BT W S:-YaTe, 91l YaTe STear B Jare T8 e
() =T &1 ThE T 80,000 . |

(i) <RI @ 40,000 %. T AN 6T |

(i) 10,000 ®. & THAT A B 9% FOGA § GRATIT AT |

(iv) 10,00,000 &. & THAT AT BT Fehe A T |

Briefly explain the limitations of analysis of financial statements.
Terir freoTi & fageioor <l Faretl st Hag | qHerey |

The current liabilities of a company are Rs. 3,50,000. Its current ratio is 3.00 and
liquid ratio is 1.75. Calculate the amount of current assets, liquid assets and

inventory.

T HFAT I AN AT 3,50,000 F. & | THEBT AT AT 3.00 TAT TRATT ST 1.75 & | T,
AT, T GRaral qer T @l 1T i T T |

On the basis of information given below, calculatetanyof the following ratios:

() Gross Profit Ratio;

() Debt-Equity Ratio and

(i) Working Capital Turnover Ratio.

Information :

Rs. Rs.
Net Sales 3,75,000 Current Assets 4,25,000
Cost of goods sold 2,50,000 Equity Share Capital 1,90,000
Current liabilities 1,20,000 Debentures 75,000
Loan 60,000

T & T A & AR ) Frtarad § 4 Rl &b STIuTdl #i T i
() = A S

(i) FT-HEAT S, T

(i)  =reiSTieT ST STE ST |

'{ch{T :

- T 5.
g faerg 3,75,000 AT Rt 4,25,000
I T A B AN 2,50,000  THAT A Yol 1,90,000
A GFaTd 1,20,000  OT 75,000
Eal 60,000

11
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21.

Following are the Balance Sheets of XY Ltd. as on 31st March, 2003 and 2004 :

Liabilities 2003 2004 Assets 2003 2004
Rs. Rs. Rs. Rs
Share Capital 1,20,000 | 1,40,000Goodwill 20,000 16,000
General Reserve 8,000 12,000 Building 76,00( 96,400
Profit & Loss Alc 7,200 6,200 Investments 4,000 14,000
Proposed Dividend 11200 20,200 Debtors 30,000 43,200
Bills Payable 14,000 21,200 Stock 34,000 31,200
Outstanding Expensgs 14,400 15,200 Cash 6,800 11,200
Preliminary Expenses| 4,000 2,800
1,74,800| 2,14,800 1,74,800 2,14,800

You are required to :
() Prepare schedule of changes in working capital.
() Calculate funds from operations, and

(i) Prepare a Funds Flow Statement. 6
OR

The following balances appeared in Plant Account and Accumulated Depreciation Account
in the books of Bharat Ltd. :

Balance as at 31.3.2003 31.3.2004
Rs. Rs.

Plant 7,50,000 9,70,000

Accumulated Depreciation 1,80,000 2,40,000

Additional Information :

Plant costing Rs. 1,45,000; accumulated depreciation thereon Rs. 70,000, was sold for
Rs. 35,000.

You are required to :

() Compute the amount of Plant purchased, depreciation charged for the year and loss
on sale of plant.

@) Show how each of the items related to the plant will be shown in the cash flow
statement.

12



31 T, 2003 TAT 2004 & TG, IrE. for. & Rafy faawor g g 9 & ¢

DO

[y 2003 | 2004 | GERET 2003 | 2004

T T, T, T
T IoH 1,20,000| 1,40,00Q ATl 20,000 | 16,000
qET 9T 8,000 | 12,000 W& 76,000 | 96,400
ICEIIE] 7,200 | 6,200 feaer 4,000 | 14,000
EESHERCIEIF 11,200 | 20,200 ¥ ER 30,000 | 43,200
g faa 14,000 | 21,200 =iH 34,000 | 31,200
e @d 14,400 | 15,200 &3 6,800 | 11,200
IR T 4,000 | 2,800
1,74,800 | 2,14,80Q 1,74,800 2,14,8(

arufera .

() s ST IRac arfernl a1 |
(i) TAE | 9T BT B AT i, 29T
(i) =PI YaTE Teeor I |

o
R foT. 0 gedehl | FI= Wi q7 T Jedsrd @rd | e 9w g9 7w & ¢
% 31.3.2003 31.3.2004
s s
q= 7,50,000 9,70,000
THEd e 1,80,000 2,40,000

SAfeTerT e -
1,45,000 5. ARTT &1 GO T 9 TR @™ 70,000 &. 97 35,000 &. § <=7 17 |
fr=faiad gdrET -

() o = g R T Fa T g, T T e a9 R R T ST 9X S bl IO

B |
(i) da= & Fafed g% Ag Ahs Jare faawer § &g g9 St 2

13



16.

17.

18.

19.

20.

21.

PART-C
COMPUTERISED ACCOUNTING

us-
AfmRe AEiw
What is meant by Normilisation ? 2
QTR 7 T 31 & 2
What is data redundancy ? What problems are associated with it ? 3

e fefehdr T & 2 39 gi-ed -y 9uE € ?

What do you understand by unary, binary relation ? 2

Thet, AIeY qEE § AT T arad & ?

Conceptualise the accounting reality in terms of Entity Relation Model concepts. 3
TR ATEAIRAT & 3. TR HiSd 9NN & &9 H Heh{edd Hig |

Develop and depict an Entity Relationship Model for this accounting reality. 3
TR ARArRdl & [0 U 3. R A [Gwha ud e s |

Show the database design in terms of relevant data tables and their inter relationships.
3+t4 =7
ShS T SR A¥ehed (B9T2) &l I™Eih Thsi & TR & &4 § g aar 6

Sagr=el B garsd |

Note : The above Q. 19—20 to be done with the following Vouchers :

Voucher 1
Voucher 0705 Date : May 07, 2004
M/s. Macrowell
Debit A/c : 110001 @sh Account
Credit Account
Sl. No. Code Name of Alc Amount (Rs.) Narration
1 174001 Sale 15,000 Goods sold
Authorised by Prepared by
Gopal Sarala

14



Voucher 1105

Voucher

2

Date : May 11, 2004

M/s. Macrowell

)

15

Credit A/c : 110001 @sh Account
Debit Account
Sl. No. Code Name of Alc Amount (Rs.) Narration
1 140001 Mchinery 1,50,000 Assets Purchase
Authorised by Prepared by
Gopal Sarala
P U9 19 ¥ 21 O &% Su¥ (METarRad YHIOThT i gerdr ¥ iy
T 1
HIOTE 0705 fT. 7 07, 2004
. Hshlda
A @1 110001 U@
T
W ST | WIS W A ¥ (%) =
1 174001 fosp 15,000 HqT =T
afere TRt
T X
TS 2
JHI9TH 1105 f&. 912 11, 2004
o, Hehlad
STHT @1t 110001 UhS-@TT
M |
W G | HiE R W AW ¥ (%) Liat]
1 140001 ERIEK 1,50,000 i T &
afere JIR Far
T 3L



